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NEW QUESTION 1

An Ethernet switch has eight ports and all ports must be operational for 24 hours, from Monday through Friday. However, a failure of Port4 occurs as follows:

* Monday = 8 PM to 9 PM

» Wednesday 7 PM to 9 PM

* Thursday = 6 AM to 9 AM

 Saturday =4 PM to 7 PM What is the MTTR of Port 4?

A. 2 hours
B. 3 hours
C. 28 hours
D. 38 hours

Answer: A

NEW QUESTION 2

What is a key advantage of cloning a virtual machine (VM)?

A. Ability to run new VMs simultaneously with the same IP address.
B. Reduces the time required to create multiple copies of a VM.

C. Improves the performance of an existing VM and new VMs.

D. Eliminates the need to create multiple snapshots for a VM.

Answer: B

NEW QUESTION 3

In an archiving environment, how is a content address created in a content addressable storage (CAS) system to store an object? A. From the metadata of an

object.

A. By using the logical address of the memory space.
B. From the binary representation of an object.
C. By using the physical address of the storage device.

Answer: D

NEW QUESTION 4
Why is it important for organizations to store, protect, and manage their data?

A. Reduce the amount of data to be replicated, migrated, and backed up.

B. Rapidly develop and deploy modern applications for business improvement.
C. Develop new business opportunities by leveraging existing data.

D. Reduce the complexity in managing the data center environment.

Answer: C

NEW QUESTION 5

DRAG DROP

Match the Fibre Channel (FC) Layers with their respective functions.
Select and Place:

FC Layers FC Functions
FC-1 Routing
FC-2 Mappmg mterface
FC-3 Encode/Decode
FC-4 Common services
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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FC Layers FC Functions
FC-1 FC-2
FC-2 FC-4
FC3 FC-1
| FC-4 FC3

NEW QUESTION 6
Which technology decouples the OS, applications, and user state from a physical compute system?

A. Application virtualization
B. Storage virtualization
C. Thin client virtualization
D. Desktop virtualization

Answer: D

NEW QUESTION 7

DRAG DROP

Match the types of attack with their respective description.
Select and Place:

Attack Types Description
I, Sends a spoofing email containing a link(s) to a
Denial-of-Service i A
_— Installs a rogue hypervisor that takes control of a
Phishing compute system
Man-in-the-Middle Prﬂ::ﬂr.i legitimate users from accessing resources or
services
Hypenjackmng Eavesdrops on the network to capture credentials
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Artack Types Description
Denial-of-Service Phishing
Phishing Hyperjacking
Man-in-the-Middle Denial-of-Service
Hyperjacking Man-in-the-Middle

NEW QUESTION 8
Which functionality does a Control layer provide in a software-defined networking architecture?

A. Defining the network behavior through various policies.
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B. Making decisions on how the packets should be forwarded.
C. Establishing communications between the Infrastructure and Interface layers.
D. Forwarding data packets based on the requirements from the Application layer.

Answer: C

NEW QUESTION 9

Which technology combines NAND flash memory into a hard disk drive and is a single, integrated device incorporating both types of storage?

A. Solid-state drive

B. Dual drive

C. Fibre Channel drive

D. Solid-state hybrid drive

Answer: D

NEW QUESTION 10

Which technology is used in the media and entertainment industry to enable content-based search activity and to create video subtitles using natural language

processing?

A. Machine learning
B. Social networking
C. Cloud computing
D. Internet of Things

Answer: A

NEW QUESTION 10

Which product provides an organization with the power to search and analyze vast amounts of data in one place and helps administrators to discover suspicious

event trends?

A. Dell InTrust

B. Dell Change Auditor
C. VMware AppDefense
D. VMware AirWatch

Answer: A

NEW QUESTION 13
What does the "X" represent in the exhibit?

E_po
F_po
N_port
N

A. rt
B. rt
C.
D.

NEW QUESTION 17

A backup administrator has defined a backup policy. The policy requires full backups to be performed at 10 PM every Sunday and incremental backups performed
at 10 PM the remaining days. If files were accidentally deleted Wednesday morning, how many backup copies are required to restore the files?

ooy
aa b wWwN

Answer: A

NEW QUESTION 22

What is an accurate statement about stretched VLANS?

A. Reduces network bandwidth requirements during VM migration across sites.

B. Requires a change in the VMs' IP addresses to match the addressing scheme at the other sites.
C. Enables automatic modification of VLAN addresses during VM migration across sites.

D. Supports migration of VMs across sites without the need to change their network configurations.

Answer: A

NEW QUESTION 26

What is a key advantage of implementing FCIP?

A. Provides a disaster recovery solution by replicating data across data centers.
B. Enables migration of VMs across data centers by using existing FC networks.
C. Ensures lossless transmission of FC traffic across data centers over Ethernet.
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D. Provides a dedicated network for transmission of storage traffic within a data center.

Answer: A

NEW QUESTION 29

If a company has experienced a passive attack on its IT infrastructure, how is the company's security impacted?
A. Access to services is denied.

B. Availability of data is affected.

C. Information privacy is compromised.

D. Data is altered by an unauthorized user.

Answer: D

NEW QUESTION 30
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